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1.(10%) *% X 2"gt%#E pdf f(x) Ml cdf F(x). For a fixed number x0, define the function

)
>
g(x) = {[1-F(x0)] X 2 20 . Pove that g(x) is a pdf.
0, x <x0
2.(10%) it ¥ BRI ERM A R -

3. (10%) #Xq,Xy,.., X2 ild ¥ PRjI7 A e 2 PDF : £(X; 6) = 0eC9%,X > 0,6 >0,
F 6 2. UMVUE (uniformly minimum variance unbiased estimator).

4. (10%) Let X and Y have the joint pdf f(x,y) =6(1—x—-y), x+y <1, 0<x, 0<y,zero
elsewhere. Compute P(2X + 3Y < 2)

5. (10%) 4 X~poisson( A) > #Ff#F+5 E(X) & Var(X).
6. (10%) =% XPRiE - o @ B(n,p)  #FREFH L4 S Fdc(mg ) -
7. (10%) #Xy, Xy, .., XpE_ild ® PRIEN(B,,05) » FF1%* 5~ #iiE (MLE) $(0,,0,) 2 %3+ o
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PS: #ms-k a=0.05% x2(1) =3.84,Zp975 = 1.96, Zyos = 1.645




